bl &yl N dal) o

inear- Systems of Algebraic Equations
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i) il ga J3W g H Ol P g s el ol
g ¢ 54 Ll () 1da ¢ 5o 50 2y (Linear Systent)
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6 gl Ykl das) FTNZEIAY {..S'a.-J\) (S 348 (Sl
ciglasd J.é—-\ G e — L‘qi_ JJ,Q:JLJ L(J.,Mé\ 5»
| plas IS el Bl

il J e Sgy O dr s IR SN (IR
&t el Bty Ja8 s adt dda3 iyt YW
Aty 4 B s s b 25 ((Direct Methods) 8 =\
iyl Sl Bl el Dy W JE RERRRTT



Linear Sys.ems - 4achall 4o Sysbadl a5 e 5 il
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ahle e s Ol (‘J@ J sk S J el
@rrs as dazad () Ll e W jlasl Sa &Sl sial
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Al Ay uadl c¥uledl a5 5 4
SYSlall e sue e Gyle s Lhi 4 OYsiall alls;
b jme oo alladl o OS05 (Rl o sue 3 Lbdt & 30
Ji—gt =5 O oo Lon bt Jadiy | LAl ods 3
LS = o3 — (L 59 (55al \9}5/: e «x; «(Unknown)
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i =1n e cay; « (Cocfficients) Yv'—sdl S§ ably
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é—-e-é [ :1,111 \./-7‘ .\l \A\ fé\h,u d/&) | = E; W ‘bi

b gl 310805 ged o Jsadt O gdlll s
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B o S5y — ST A S il s o 1 G
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b X « a e
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_bn_ Xn Ayt @2 0 Qg
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Gt At o Byl pa Wbl Aladl & Yol al
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e il 4 (dsdan [0 3 alldl M Lap g Bl
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AX=0 (5.4)
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a a LRI | . X
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;d\g-' AX =0 oYl e\]'a.i Jo 0 03 AR ARV JYIVY
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28, -2 —O>:>x =—

x2+16x4 16x 2
7 9 _

X3+16X4—16JC5-—0‘ X3 =—

\_:.o;) cx4=x4+0,x5=x5+0 of — oY1 —
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